## ROYAL HIGH SCHOOL FP CRICKET CLUB SEASON 1956

## 1st X1

|       | HJ. | FP. |                     |     |     |     | 1956 |    |
|-------|-----|-----|---------------------|-----|-----|-----|------|----|
| APR.  | 21  | н   | MURRAY PIELD        | 80  | 10* | 33  | 10   | T  |
|       | 28  | A   | DUNFERMLINE         | 115 | 6   | 112 | 10*  | 1  |
| MAY   | 5   | н   | HERIOT'S PP         | 59  | 10  | 93  | 10*  |    |
|       | 12  | ^   | LEITH FRANKLIN      | 182 | 4×  | 70  | 10   | 1  |
|       | 19  | н   | EDIN . ACADS :      | 103 | 4   | 102 | 9*   | 1  |
|       | 21  | A   | MANDERSTON          | 143 | 10* | 114 | 7    | 1  |
|       | 26  | A   | MELVILLE COLL . FP. | 125 | 4   | 124 | 10*  | -  |
| JUN.  | 2   | н   | GRANGE              | 123 | 8*  | 125 | 3    |    |
|       | 5.6 | н   | EDIN. UNIVERSITY    | 135 | 10* | 136 | 7    | 1  |
|       | 9   | Н   | WATSONIANS          | 93  | 9   | 130 | 10*  | 1  |
|       | 16  | A   | CARLTON             | 95  | 10  | 139 | 7*   |    |
|       | 23  | H   | STEWART'S COLL. FP. | 155 | 8 * | 151 | 9    | -  |
|       | 30  | н   | GLASGOW HS. FP.     | 54  | 4   | 53  | 10*  |    |
| JUL.  | 7   | A   | SELKIRK             | 148 | 8*  | 94  | 8    | :  |
|       | 14  | н   | ST. BOSWELLS        | 156 | 4 × | 99  | 6    | 1  |
| 1     | 18  | н   | R.H.S. PP.          | 78  | 7   | 87  | 10*  | 1: |
|       | 21  | н   | HAWICK & WILTON     | 85  | 10* | 86  | 4    | 1  |
|       | 28  | A   | STENHOUSEMUIR       |     |     |     |      | 0  |
| AUG   | 4   | H   | KIRKCALDY           | 80  | 6   | *   | *    |    |
|       | it  | A   | DEUMPELLIER         | ,   |     |     |      | 0  |
|       | 18  | н   | BRUNSWICK           |     |     |     |      |    |
|       | 25  | A   | PERTHSHIRE          |     |     |     |      | c  |
| Sc47. | 1   | н   | TRINITY ACADS.      | 39  | 10* | 40  | 6    | 1  |
| L     | 8   | A   | GALA                |     |     |     |      | 0  |

| DH. ADAMSON    | 1  | 1  |   | 3    | 3   | 3.00  |      |    |     |    |       | 1 |
|----------------|----|----|---|------|-----|-------|------|----|-----|----|-------|---|
| DL. ANDERSON   | 17 | 15 | ı | 26   | 110 | 7.85  | 6    | 1  | 16  |    | oc    | ı |
| AR. CORBETT    | 6  | 5  |   | 31   | 57  | 11.40 | . 3  |    | 13  |    | œ     | 1 |
| PS. DAVIES     | 4  | 3  | 1 | 17   | 24  | 12.00 |      |    |     |    |       | 1 |
| RR. DRYSDALE   | 3  | 3  | ı | 2    | 2   | 1.00  |      |    |     |    |       |   |
| PAJ. GARDINER  | 17 | 17 | 6 | 56   | 223 | 20.27 | 2    | 1  | 8   |    | 8.00  | 1 |
| DJ. GILROY     | 17 | 17 |   | 26   | 167 | 9.82  |      |    |     |    |       | 1 |
| 25 GLENDINNING | 2  | 1  |   | 4    | 4   | 4.00  |      |    |     |    |       | - |
| KC.GRUBB       | 3  | 2  |   | ı    | ı   | 0.50  | 20   | 8  | 35  | 2  | 17.50 | - |
| TB HAMILTON    | 5  | 5  |   | 8    | 18  | 3.60  |      |    |     |    |       | 1 |
| AW. HARPER     | 18 | 14 | 1 | 37   | 155 | 11.92 |      |    |     |    |       | 1 |
| GA. HENRY      | 6  | 5  | 1 | 20*  | 30  | 7.50  |      |    |     |    |       |   |
| JB. JOHNSON    | 18 | 8  | 5 | 2    | 7   | 2.33  | 118  | 41 | 236 | 23 | 10.26 | 1 |
| DR. LAWRENCE   | 17 | 10 | 4 | 13   | 48  | 8.00  | 1985 | 60 | 418 | 44 | 9.50  | 1 |
| NJ. MARTIN     | 1  | 1  |   | 6    | 6   | 6.00  |      |    |     |    |       | 1 |
| EC. MOSS       | i  |    |   | 2    | 2   | 2.00  | 2    |    | 6   |    | ٥٤    |   |
| UB. ROBERTS    | 17 | 16 | 2 | 54   | 300 | 21.42 | 164  | 53 | 364 | 40 | 9.10  | 1 |
| PO. THOMAS     | 19 | 19 | 1 | 112* | 448 | 24.88 | 8    | 2  | 26  |    | oc    | 1 |
| AMC. THORBURN  | 18 | n  | 5 | 26*  | 121 | 20.16 | 1362 | 28 | 386 | 29 | 13.31 |   |
| DS. VALENTINE  | 11 | 9  |   | 17   | 51  | 5.66  | 223  | 4  | 80  | 3  | 26.66 |   |
| EW. WILSON     | 8  | 8  | 1 | 45   | 93  | 13.28 | 3    |    | 18  |    | oc .  | ١ |

| -  |    |   |                          | RHS.F.P. |     | OPPONENT | 'S  | -       |
|--|----|---|--------------------------|----------|-----|----------|-----|---------|
| HP.  | 16 | H | LONDON ROAD              | 69       | lo  | 102      | 10+ | 12      |
| greets) is displaced and ago   | 21 | H | FAULDHOUSE VICTORIA      | 71       | 10* | 77       | 3   | 1       |
| The man the control of   | 28 | H | PENICUIK 2 W             | 165      | 10* | 64       | 10  | W       |
| MAY  | 5  | A | HERIOT'S F.P. 2 (8)      | 64       | 10* | 65       | 3   | L       |
| disservables Main waterpape.   | 12 | H | LEITH FRANKLIN 2 (8)     | 39       | 5   | 33       | 10* | M       |
| Compression of the Compression o | 19 | A | DEPOT ROYAL SCOTS        |          |     |          |     | OFF     |
| o de circula con estado  | 21 | H | JESTERS                  | 122      | 3*  | 128      | 5   | L       |
| THE STATE OF A SAME AND A SAME AN | 26 | A | MELVILLE COLLEGE F.P. 2  | 196      | 6*  | 100      | 10  | V       |
| JUN  | 2  | A | INNERLETHEN              | 102      | 7*  | 74       | 10  | W       |
|  | 9  | A | WATSONIANS 2 (X)         | 162      | 7*  | 76       | 10  | W       |
|  | 16 | H | CARLTON 2 🛞              | 168      | 5*  | 83       | 9   | 0       |
|  | 23 | A | STEWART'S COLLEGE F.P. 2 | 108      | 10* | 56       | 10  | Milliam |
|  | 30 | H | NEWINGTON                | 169      | 5*  | 93       | 10  | W       |
| JUL.   | 7  | Н | BURNTISLAND              | 153      | 10* | 117      | 8   | D       |
| and Committee and  | 14 | H | EDINBURGH ACADS.2        | 99       | lo* | 73       | 10  | W       |
| age  | 21 | H | LEITH ALBION             | 136      | 10* | 42       | 10  | V       |
| e son and particular e   | 28 | H | STENHOUSEMUR 2           |          |     |          |     | OFF     |
| AUG  | 4  | A | HADDINGTON               |          |     | 10       | 1 * | D       |
|  | 11 | Н | PORTOBELLO               |          |     |          |     | OFF     |
|  | 18 | A | STIRLING COUNTY 2        |          |     |          |     | OFF     |
|  | 25 | Н | MEADOWBANK               |          |     |          |     | OFF     |
| SEP  | 1  | A | DUNBAR                   | 80       | lo* | 5h       | 10  | M       |

## P.17 W.10 D.3 L.4 OFF. 5

ROYAL HIGH SCHOOL F.P.: 1903 RUNS: 128 WICKETS: AVERAGE 14.8 OPPONENTS: 1277 RUNS: 109 WICKETS: AVERAGE 9.1

A RUBLISHED LEAGUE TABLE IN 1956, SUGGESTS RASEP DID NOT PARTIENATE IN GRADE A THIS SEASON.
THE FIXTURES MARKED ARE OTHER LEAGUE OPPONENTS.

## ROYAL HIGH SCHOOL F.P. 300 XI

|        |   |                          |     |     |      |    | 1956 |
|--------|---|--------------------------|-----|-----|------|----|------|
| MAY 5  | Н | ST. MARY'S               | 62  | 10* | 60   | 10 | W    |
| 19     | H | EDINBURGH TELEPHONE AREA | 56  | 10  | 138  | 9* | L    |
| JUNE 2 | H | BRUNSWICK A              | 140 | 9   | 137  | 5* | W    |
| 9      | H | H.M.S. TEMERAIRE         | 22  | 10* | 99   | 9  | L    |
| 16     | Н | DUNBAR                   | 63  | 10* | 64   | 6  | L    |
| 23     | H | STEWART'S COLLEGE F.P. B | 81  | 10* | 62   | 10 | M    |
| JULY 7 | H | PENICUIK B               | 86  | 10* | 1 43 | 10 | IWI  |

P.7 W.4 DO L.3

R.H.S.F.P: 510 RUNS; 69 WICKETS: AVERAGE 7-39 OPPONENTS: 603 RUNS; 59 WICKETS: AVERAGE 10-22